
r“

60

{

61
62
63
64
65
66 67

-E
67 68

69

‘1

+

2

23
4

+

14
15

13A ,6

17

+

4
5
6
7

--E
21

E

21 22
24 23
25

*

34

33 35
36

I-30

+

53

53 :

56

..
-/””
/“/. /27 26‘“+”’ Jo ~

236
1 224327 M5x69 2
2 223196 1
3 e 219023 2
4 @ 223520 1
5*4I - 1
6 ● 0 219016 1
7*Q - 1
8 219145 1
9 222758 1
10 FIGURE4
11 224148 1
12 223984 1
13 223986 1
13A 300630 1
14 0235642 2
15 0322231 1
16 .e 301833 1
17 0215515 1

18 222480 2
19 216022 M4X21

20 219590
21 ● 223331
22 ● ● 219585
23 c s 218932
24 ● 218941
25 ● 216792
26 ● 300474
27 ● 301252
28 ● ● 216093
29 ● 216590 1
30 ● 215874 M4X9,5 1

31 225037 1
32 216583 1
33 217554 1
34 ● 215536 1
35 ● 223770 2
36 ● 215538 2
37 215539 1
38 222308 1
39 219383 1
40 216022 M4x21 2
41 219848-01 1
42 ● 223884 1
43 ● ● 102556 1
44 ● ● 95266 1
45 ● ● 215533-01 1
47 93018 1
48 213178 M5x8 1

49 215540-01 1
50 217320 M6x16 2
51 224448 1
52 e 223925 1
53 301443 1
54 ● 223455 1

55 ● 218275
56 ● 111026
57 110984
58 102164
59 215541
60 301203
61 ● 301153
62 ● 83859
63 ● 216500
64 ● 213191
65 ● 215545
66 ● 216027
67 ● 301273
68 e ● 213282
69 .. 216143
70 228864
71 235431
72 228957

1
2
1
1
1
1
1
1
1
4
1

M5,28 4
1
1
1
1
2

M4x25 3
i

73 217390 1
74 217382 1
75 225623 1
76 ● 229132 1
77 ● 236321 1
78 ● 93720 1
79 300700 1

235612 2
81 228908 M4x14 1

82 228946 1



237
1 229077 M5x18 6 19 237283 1
2 229910 1 20 FIGURE1
3 229970 1 21 229911 1
4 225629 1 22 236529 1
5 ● 228958 1 23 229208 2
6 ● 235914 1 24 225627 1
7 235164 2 25 ● 227251 1
8 FIGURE3 26 ● 229761 1
9 228924 M5x20 1 27 ● 229762 1

10 229972 M5x25 1 28 229760 1
11 229919 1 29 ● 229772 2
12 225631 1 30 235214 M6X20 2
13 ● 235897 1 31 236936 2
14 ● 228958 1 32 235912 2
15 228861 1 33 235107 1
16 21$533 1 34 229208 1
17 235801 M4x16 4 35 225628 1
18 229914 1 36 ● 229888 1
37 ● 229891 1
38 ● 229892 1
39 ● 229893 1
40 ● 229920 2
41 ● 235105 3
42 235106 3
43 235803 M5x25 3
44 235107 3
45 229976 1
46 229977 1
47 228277 1



5

WALBRO WT 237

. r’

.e
L

j

&L/’” ‘-’-2

1
1

1

I TIVOLI45

229912
; 227727 ;
4 229756
5 229208 ;
6 227769 4

229563 M5x1O 1

; 229959 M5x20 1
9 229561 M5x16 2

TIVOLI60
238
224141-03 carbur.

1 ● 224461 1
2 ● ● 224460 1
3 .224466 1
4 .300072 1
5 .237481 1


	Tivoli 45, 60
	Figure 1
	Top
	Bottom

	Parts List
	Figure 2
	Top
	Bottom

	Parts List
	Figure 3
	Parts List
	Figure 4
	Parts List


